1. verze
import random

adj = ["červený","starý","nablýskaný","rozpadající se","pomalý"]

podst_jmena = ["autobus","vlak","skútr","taxík","kůň"]

přísud = ["uháněl","se řítil","se plazil","jel"]

předm = ["do porodnice","do Brna","do pohádky","do rybníka","na dovolenou"]

print (random.choice(adj),random.choice(podst_jmena),random.choice(přísud),random.choice(předm))

2.verze

import random

for x in range (5):

    adj = ["červený","starý","nablýskaný","rozpadající se","pomalý"]

    podst_jmena = ["autobus","vlak","skútr","taxík","auto"]

    přísud = ["uháněl","se řítil","se plazil","jel"]

    předm = ["do porodnice","do Brna","do pohádky","do rybníka","na dovolenou"]

    num = random.randrange(0,4)

    num1 = random.randrange (0,4)

    num2 = random.randrange (0,4)

    num3 = random.randrange (0,4)

print (adj[num] + ' ' + podst_jmena[num1] + ' ' + přísud[num2] + ' ' + předm[num3])

